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EXERCISE # 2


Q.1 5 km h–1

- 
(A) 5 km h–1 (B) –5 km h–1 
(C) 10 km h–1 (D) –10 km h–1 

Q.2 
- 

(A) Z (B) M (C) O (D) W 
 

Q.3 0.5 m 

- 
(A) 0.5 m (B) 1 m 
(C) 0.25 m (D) 0.75 m 

 

Q.4 0.5 m 
0.2 m 

- 
(A) 0.2 m (B) 0.5 m (C) 0.1 m (D) 1 m 

 

Q.5 10 cm s–1

 - 
(A) + 10 cm s–1 (B) – 10 cm s–1 
(C) + 20 cm s–1 (D) – 20 cm s–1 

Q.6 
- 

(A) (B) 

(C) (D) 

Q.7 
 - 

(A) (B) 
(C)  (D) 

Q.8 - 
(A) 
(B) 

(C) 
(D) 

Q.9 - 
(A) 

(B) 
(C) 

(D) 
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 Edubull

Q.11 60° 
- 

(A) 30° (B) 90° 
(C) 60° (D) 180° 

Q.12 


80° 
- 

(A) 40° (B) 50° 
(C) 45° (D) 55° 

Q.13 - 
(A) 
(B) 
(C) 
(D) 

Q.14 
4.8 m 

2.4 × 108 m 
2.2 cm 

- 
(A) 1.1 × 106 m (B) 2.2 × 106 m 
(C) 2.2 × 108 m (D) 2.2 × 1010 m 

Q.15 f 
a 

- 
(A) (f + a)/f (B) f /a 
(C) a/f (D) f2/a2 

Q.16 20 cm 
10 cm 

- 
(A) 0.2 (B) 0.5 
(C) 1 (D) 

Q.17 

- 
(A) 
(B) 
(C) 
(D) 

Q.18 - 
(A) 1 
(B) 1 
(C) 1 
(D) 1 1 

Q.19 u, v  R - 
(A) vu

uv2R  (B) vu
2R 

(C) )uv(
)vu(2R  (D) 

Q.20 

- 
(A) C (B) C  F 
(C) C (D) F 

Q.21 
3 m 

(A) 3 m (B) 4.5 m 
(C) 6 m (D) 



ANSWER KEY 
EXERCISE-1 
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EXERCISE-2 
Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans B A B B C B A D A D C B C B B
Ques 16 17 18 19 20 21
Ans B D D A C C




